I'll start by showing you the traditional method, but then I'll explain
what's really going on and show you how you can do it in your head.
It'll be easy!

Given some polynomial guy

£(x) = ar"+ ...

b % + . <— mth degree polynomial

<— nth degree polynomial

rn<m , then the x-axis is the horizontal asymptote.

2| f NN = 1M . then the horizontal asymptote is the line
a

| R

21N > m , then there is no horizontal asymptote. (There is
a slant diagonal or oblique asymptote.)

Yeah, yeah, you COULD just memorize these things... but it's way
better to KNOW what's going on. Then you can just do it.
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